
I.

2.

3.

Choose the most appropriate option to
fillin the blank:

The salutation in anofficial letter should
be
(A)After the subject

(B) Before the date
(C)Before the subscription
(D) After the signature
(E) Ouestionnot attempted

(B) uf () qa () sch He aÌ

(E)3gtfka gA

(A)yrt
(C) dchs
(E) 7f VA

(B) aeftH
(D) rH (ia)

[AJ

[C]

[C]

4.

5.

6.

7.

(E) 4gakd TA

30T 1949, h dyc a GRTH (Unite
State of Greater Rajasthan) a1 gef

(B) HIGH et
(C) sRI AT

(D)HRGTR eYTIS Y
(E)gufR HA

(A) Gt
(C)

(E)344dRd YA

(A) 5. 28,600
(C)6. 40,000
(E) 3-afRa y

(B) 4F
(D) G

(B) #.38,600

[

(D) 7. 28,000

[E

Check
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8.

9.

120 a ft gures aaT T gT:
(A) 310
(B) 360
(E) gafa NA

Choose the most appropriate reported
form of the sentence given: "Where will
you be tomorrow", I said "in case I have
to meet you?"

(A) Iasked where he would be the next day
in case I had to meet him.
(B) Isaid to him where he will be next day in

case Ihave to meet him.

(D) 300
(C) 380

(C) I enquired about his whereabouts the
next day in case Iwould have to meet up.

(D) Iasked where you will be next day in

case I willmeet him.
(E)Question not attempted

(A) tat (RIICO)

(B) ISeÍa (RAJSICO)
(C) fotI tetftch hg

(B]

(D) IsRTH faa
(E) gRA IA

11. Afft TÂ?

(E) afRa IA

[AJ

[AJ

(B)Aafa VIBGYOR ÀHA TA ychTRT HATH

[D]

Read the passage and answer the Qns. 12

to 16.

When the reigning world chess champion
Ding Liren and his challenger D Gukesh sit
down to battle for the coveted crown later
this year, it will be like twO peas in pod, in

more ways than one. Even Ding said that he
sees shadows of himself in the 17-year-old
Chennai boy.
During an interaction with TOI, the Chinese
Grand Master (GM) said: "Sometimes I see

him as a version of me. And we do share

some similarities in our playing styles and
characters."
Both Ding and Gukesh's journey to the
world Championship had surprised the
chess world. After the Chinese qualified for
the Candidates following a ban on Russian
GM Sergey Karjakin, Ding finished second in

the tournament.
Later, when Magnus Carlsen chose to not
defend his world title, Ding got the
opportunity to fight for the crown with
Candidates champion lan Nepomniachtchi.
Ding shocked Nepo to become the new

champion. Gukesh's route to the top, too,
has also been full of surprises. Despite
being written off in the 2024 Candidates,
Gukesh, seeded sixth among eight players,
emerging triumphant on his debut.
That apart, Ding and Gukesh are similar
personalities- calm, composed and men of a

few words, who let their moves do all the
talking. "He (Gukesh) is not in ahurry while
playing, he calmly tries to have everything
under control. He's a very mature player
ever at 17. Also, he had said my game has
some inspirations for him, so maybe I have
had some influence," said Ding.

Ding, who was also astounded by Gukesh's
Candidates win, feels the Indian prodigy can

be a 'difficult player to handle'. "I have
beaten Gukesh twice but what sets him
apart is he can play many kinds of openings.
And he always wants to surprise you at the
openings. So he's a difficult player to
handle."

After becoming the world champion last
year, Ding hit a rough patch where he didn't
play for almost eight months due to
psychological and physical issues. And,

when he did play, he had a series of bad
results, which led the five-time world
champion Carlsen to make a remark that
Ding is "permanently broken".
"Well, I'm getting repaired," he quipped.

Check
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12.

13.

Ding Liren feels the Indian prodigy
D.Gukesh can be a "difficult player to
handle" because -

15.

(A) he lets his move do all the talking.
(B) he can play many kinds of openings and
can surprise you at the openings.
(C) he is not in a hurry while playing.
(D) he is calm and composed and a man of

few words.
(E) Question not attempted
The Game being discussed here is

(A) Polo
(C) Ski-ing
(E) Question not attempted

(A) Prodigy

(B) Chess

14. Complete the sentence with the most
appropriate option from the ones given
below:

(B) Cryptic

(D) Cricket

(C) Psychologist

A is a young person with exceptional
qualities or abilities.

(D) Elegy
(E) Question not attempted

[B]

[B]

(B) They like each other

When Ding Liren says that he "sees
shadows of himself" in the seventeen
year old Chennai boy, he means that -

(A) They resemble each other

(D) D. Gukesh and Ding Liren are twins
(E)Question not attempted

[AJ

(C) They share similarities in their playing
styles and characters.

[C]

16. According to the passage, Ding Liren
journeyed to become the new World
Champion:
(A)When Magnus Carlsen chose to defend
his world title.
(B) When Ding Liren got the opportunity to
fight for the Crown with lan
Nepomniachtchi and got defeated.
(C) When Ding Liren fought for the Crown
with lan Nepomniachtchi and won.
(D)When he qualified for the Candidature
defeating GM Sergey Karjakin.
(E)Question not attempted [C]

18.

(A)q-f

20.

(B) 4R-THI
(C)fahar gT-TtET E (D) rGI-fahdl
(E) 34dA IA
Choose the word opposite in meaning to -

CONTRITE
(A) hurtful
(C) polite
(E) Question not attempted

19. Identify the most appropriate sentence
from the following options:
(A) He was living in London for two years
when I visited him.
(B) He had been living in London for two
years when I visited him.

(A) Ctrl+E

(C) He had lived in London for two years

when I visited him.

(E) Question not attempted

(C) Ctrl+ Alt +S
(E)gafka 9A

(D) He lived in London for two years when I

visited him.

(tut r fere)
(a) fte
(b) fe1ge

21. qfI qi-II gAfeta ffory:

(c) 3rrerRrHIE

(B) concise

() fagftre

(D) unapologetic

(A) 4RAy?

(C) GYye
(E) gtfkd HA

(A) faug ITI
(C) fasy {IG
(E)

(A)(a) - (i), (b) - (i), (c) - (1), (d) - (iv)

(B) (a) - (i), (b) - (iv), (c) - (i), (d) - (ii)
(C) (a) - (iv), (b) - (iü, (c) - (i), (d) - (i)

(D) (a) - (0), (b) - (ii), (c) - (i), (d)- (iv)
(E) gtfkd HA

dkd9A

(B)Ctrl+X

(D) Ctrl+W

() 94-98
(ii) 27

[C]

(i) 78-86
(iv) 28-30

[D]

(B) a

(D) go

(B) gefy IGI
(D) fag

(B]

[AJ

[B]

(B]

[D]

Check
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24.

25.

27.

(A)GiYT

() -RI

28.

AIDS ,
(A) ufaR Ga

(E) gaka YA

(A) dha (a) str (b)
(C)ha (d)
(E) gafka UN

26. fefaa t dTRU H/à s41FR0T /?
(a) tgr sT

fill in the blank.

(A) were
(C) are

(a) q*
(c) ge

(B) hTuj HHT

(D) A

Choose the most appropriate option to

(A) haet (b) ar (c)

(B) dAaT A
(D) ytirU dA

After months of recession the economy
picking up.

(A) 4I$GhHigE yai
(C) G Ah-ft
(E) Hgafta uA

(E) Question not attempted

(B) had (a), (b) r (c)

(D)hd (a)

H,0

(B) is
(D) was

(b) r
(d) rstr
(B) >d (a) str (c)

[D]

[AJ

(C) ham (a), (b) tr (c) (D) hq (a), (c) Btr (d)

(B) TUTT it

(A) CH,COOH + NaHCO, CH,C0ONa +
H,0 + C0,

(B) CH,COOH + NaOH CH,C0ONa +

[B]

NaOH

[B]

(C]

[D]

(CCH,COOH+CH,CH,OHHCH,COCOC,H,+H0

(D)CH,COOC,H,C,H,OH+ CH,COONa

(E) rgutfka IN [C]

32.

($TRttet) fArT?
(A) HTe4H
(B) YEtte (Astrosat)
(C) RISAT-1

(D) dH-1
(E) 3ifRA IA
Choose the most appropriate English
translation of the given sentence.

(A) He has not deceive you.
(B) You have not been deceived.
(C) You are being deceived by him.
(D) He did not deceive you.
(E) Question not attempted

q-I (Aei)
(a) Ghroft HIdI

(b) sft Hgr st
(c) sfugf
(d) heUT sf

(a) siTeT hi 34T|

(c) gTH ht gesT

(d) ufut h heteA

(A) (a) - (iv), (b)- (), (c) - (), (d) - (i)
(B) (a) - (ii), (b)- (iv),.(c) - (0), (d) - (i)
(C) (a) - (), (b) - (ii), (c) - (iv), (d) - (i)
(D)(a) - (i), (b) - (i), (c) - (ii), (d) - (iv)

(E) gA HA

(A) 3RIGS RHIIq

q-II (RTT)

(B) 3UTTTi fRHIY

(i) hterya

(E) grtfka HA

(i) feuft

(ii) ¿ar-tca

(iv) htf

(A) (a)-(ii), (b)-(ii), (c)-(), (d)-{iv)

(B) (a)-(), (b)-(ii), (c)-(ii), (d)-(iv)
(C) (a)-{i),(b)-(i), (C)-(iv),(d)-{i)
(D) (a)-(i), (b)-(i), (c)-(iv), (d)-()
(E) 3rqrifRa IA

(i)arfla
(i) TA

(ii) GöIHT
(iv) qyT

[A]

[D]

(B]

[D]

[AJ

Check
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36. -Iast qt-il gAfer fe:

38.

40.

(a) fsyH
(b) afrerH

41.

(d) 3Tts

(A) (a)-(i), (b) - (ii), (c) - (), (d) - (iv)

(B) (a) (ii), (b) - (i), (c) - (iv), (d) - (i)

37. Y PQR HfMeaT PA, QB, RC fagG

(C) (a) (), (b) - (i), (c)- (), (d) - (iv)

(D) (a)- (ii), (b) - (iv), (c) - (), (d) - (ii)

(E) 44aRa VA

tat Tafsft AGCQ AAGA:
(A) 30 ft?
(C) 40 ft2
(E) 4gakd VA

fert?
(A) fa tgetehr
(C) Ry TI-Jeft
(E) 4gafa 9A

(A)14
(C) 17
(E) 3RA VA

(A) fif TT

(i) stfa G

DEFERRED
(A) 3rufaa hI

(B) 25 f?
(D) 20 f2

42. 61da:

(B) afd ta

(B) rgtu f te (ys.a.)

(E) 4qtka IA

(D) fà et

(C) ff.t. ( HqgU AugU S)
(D) yA.L.t.

(B) 9

(D) 7

Choose the most appropriate Hindi word
for the given word:

(B) facia hT

(E)Question not attempted
(D)qRTftd hT

[AJ

(B) f sch

[AJ

[B]

[B]

[C]

[B]

[CI

(E) 34aft HA

44. Mfaft qa

47.

48.

(A)2n+3
(C) 2n-3

51.

(E) 3rgtika NA

(A) rguft

(B)RfGc54 3R JRIGS

(D)TeHst
46. falt q qH (H ferfar) HTRA

(E) 3rqtRd HA

(A)fervour
(C) liberal

(A) 3HR

(C) ufgH

(E)4gfk NA

(A) Ttaa
(C) faT

(B) HR q atT

(E) HgrfRa HA

(A) aTU

(C) tgI

ehgadt ZAIfar ?

(B) 2n-1

(E) 3gafka IA

(D) 2n+1

(B) IG4Ie

Choose the word most similar in meaning
to -ZEAL

(E) Question not attempted

(E) 3gtf 9A

(B) reluctant
(D) apathy

(B) <faU
(D) 3R-yf

(B) FUTT

[D]

(D) H81-t

(B) T
(D) q4

(B]

[B]

f

[C]

[A]

[D]

[A]

[AJ

Choose the most appropriate word to
complete the given sentence: The
compilation of titles of books or articles

Check
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53.

56.

57.

that have been used by a person for
writing an article is termed as

58.

(A)Blasphemy
(B) Bibliography
(C) Biblical
(D) Biography
(E) Question not attempted

(A)at
(C) teT
(E) Agaftd UA

(A) 24

(C) 30
(E) gafR HY

(A) 4 yrugy

(B) RT qHR EU

54. dT, 2024 * Ht t a 26a fus

(C) t. 34TR. tut
(D) 3TR. aR gHR
(E) 34qtfkd gN

(A) HERIg

(C) IGTH
(E) 4gdA IA

(A) sfruruT

(C) yuRIA
(E) 4gaRd wA

(A) 34efa
(C) G
(E) 4gafka HA

(A) F2
(C) F7

(B) TAH

(E) 34dA IA

(D) HT

(B) 26
D) 20

(B) yg
(D)sIG

(B) IGRH
(D) olq

(B) HHR
(D) Tgag

(B) F9

[B]

(D) F5

[B]

[A]

[B]

[B]

[BJ

[D]

[C]

59. yca quf ahT 9x² + 24x + 16 I auf hich

(A) 3x+2

65.

(C) 3x+5

60. -Iat qt-Il qAfta fy:

2024 Asi aft
(a) yet
(b) 62ft
(c) feT
(d) 71t

(A) EJAIG
(B) JR tfgrt ca
(C) AigAr

(A) (a)-{i), (b)-{(), (C)-(iv), (d)-()
(B) (a)-(i), (b)-{ii),(c)-(iv), (d)-(ii)
(C) (a)-(ii), (b)-(ii), (c)-(iv), (d)-()
(D)(a)-(ii), (b)-{iv), (c)-(), (d)-(0i)

(E) gafka HA

(D) |R
(E)4gafk HA

(A) 1Hech

(E) 3qRa VA

62. A-fafta r frfe TGG

(A)9 fGR, 1946
(B) 26 G-Hat, 1947
(C) 22 Ga, 1947

(D) 29 qeR, 1949
(E) 3gufRd yA

(B) 3x+4
(D) 3x+1

(A) fa

(C) FSUT

() HRd

(E) 34g1fT HA

(ii) IyHY
(iii)qnfchH

(iv) GI4H

(B) 3rferTef

(D) Hsgfeta

(B) tra
(D) art

[B]

[C]

[B]

[C]

[C]

[AJ

Check
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66.

68.

69.

g

70.

(A)hae (a), (b) str (d)
(B) ha (b), (c) itr (d)
(C) aham (b), (c), (d) sir (e)
(D) hat (a), (b) oi (c) (E) HgfRa uA
1 Gat, 2024 ht HeR TI 1Hat, 2029 ht

(A)jTeqR
(C) TRAR
(E) 34gtfRd uA

67. B, P, Q, R, S, T, V yd W s t qg h ych

(A) S

(C) P

(E)rgak HN

(ater) fehur T ?
(A) 1973

(B) 4aR
(D) fdaR

[B]

Choose the most appropriate word to
complete the given sentence:
When are you bringing
issue of your journal?
(A) of
(C) out

(E) Questionnot attempted

(C) 1980
(E) 3qfRa VA

(B)
T

(D) R

(A)14

(C) 18
(E) gafa uA

(B) up
(D) off

(B) 1978

[A]

(D) 1963

(B) 16

[BJ

(D) 12

the next

[C]

[AJ

[D]

72.

73.

74.

(A) f
(C) rT
(E) RA UA

(A) $. 23,000
(C) $. 30,000
(E) 4gafka yA

(E) gafk HA

(A) GE

(c) faI
(E) 4gaRA VA

(E) 34gtfd HN

(E) gifA IA

(A) 3RIqt
() 3refegss ta
(E) 3qufta VA

(B) faua

(D) yh

(B) $. 25,000
(D) $. 20,000

(B) frira
(D) ferRY

(B)4UT dR ife
(D) t R fe

(B) <fuT yef qart

[C]

[B]

[D]

[D]

[C]

[B]

[B]

Check
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78. fsATG TfŽT fah hel faarey jafta ?
(A) h

79.

80.

81.

82.

(C) AGRI
(E) Hgufk HA

(B) HHT

(D)MI
(E)gaRA YA

(A) HIG AT
(B) Gy
(C) iteuge
(D) 3<4g

UTeftRT

(E) aRA VN

'Subordinate',
(A) afegtg
(C) 4qait
(E) rgutka NA

(A) 12
(C) 20
(E) 34gfkA UA

83. qet-

(a) 4 ThR
(b) fArit

(d) aH

(B) fahRr-TG

(D)

fory yyt ft rG -
(B) 3e
(D) yR

339%

(B) 14
(D)10

q-II qfa frq:

3

(i) fahcha

(ii) Fetast
(ii) yadharf
(iv) seA

(A) (a-(i), (b)-(), (C)-(i), (d)-(iv)
(B) (a)-(ii), (b)-<ii), (c)-(iv), (d)-{(i)

(C) (a)-(), (b)-(iv), (c-i), (d)-(ii)
(D)(a)-(i), (b)-(0), (c)-(iv), (d)-(ii)
(E) gafkd UA

[C]

[AJ

[B]

[B]

[AJ

[D]

84. qeftI qt-I gAfeta fifoy:

(a) syHG zÍri

88.

(b) R siti
(c) fssq|-H sAl
(d) teugt sfter

ufaunfka faur?
(A) 3. SÌ.34TR. HSIRG

(C) Ti 2hR

(A) (a)-(i), (b)-(iv), (c)-(ii), (d)-()
(B) (a)-(ii), (b)-(iv), (C)-(i), (d)-(i)
(C (a)-(i), (b)-(iv), (c)-(ii), (d)-(i)
(D) (a)-(iv), (b)-(i), (C)-(), (d)-{ii)
(E) 34qka TA

(E) 3gifka 9A

(E) 3qifRA HA

(i) TÌR
(i) ARÀR

(ii) 3<4Y

(A) FAT (I) 3itr (I1) 4i r4AI

(iv) Gy

(C) H (I) 3HT S, fh-gi he (II) HYI
(D)FT (I) 3tk (II) t GAI

(B)fic fy
(D) H ts

(A)R3 HÍslI 1Om y fc SH1

87. f ŽTtfRH 2024 fahe daaf T

(B) R8 HfscI 10m yR ISh HH SH1

(C) R2 HtcT 10m yyr ISHe SH1

Englishman,
Scotsman?

(D) R2 HfscTI 10m rfURT SH1

(E) 4gfta gA

(A)a, an, an, a

() a, the, the, the

Would you like to hear

Choose the most appropriate option to
fillinthe blank:

[B]

[AJ

(B)×, an, the, the
(D) the, an, an, an

(E) Question not attempted

[D]

[D]

story about
Irishman and

[AJ

Check
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89.

(A) SyGTA
(B) faet4
(C) fÍT oftaRrAR

(D)3IGhHA
(E) afta HA

(A)ha yrft sufefa

(D) ha Bar 3qff

91. -I t-I qAfe if:

ateft/suHT9T

(a) ztt
(b) YT
(c) HIRATSt

(d) tarat

gf:
(A)(a)-(), (b)-(iv), (c-(ii), (d)-(i)
(B) (a)-{(i), (b)-(), (c)-iv), (d)-{i)

(A) R+s

(ii) fto,
(iii) RAgR, Haft

(C) (a)-(ii), (b)-(i), (c-(iv), (d)-(i)

(D) (a)-(iv), (b)-(ii), (c)-(), (d)-(ii)

(C) H+3s

(iv) AletAIG, ARA

(E) gRa TA

(B) 4R4+3
(D) RA+t

[AJ

[A]

(D]

[B]

93. AHfefd
(A)34-T
(C) ftsT
(E) 3fa HA

(A) 4312

(D) 4100 3
(E)3-fRa uA

(A) 14
(C) 17
(E) 47fRa

(A)15%

(C) 25%
(E)gdRA IA

(A) 60

Tas HT
(B)

(C)70

96. fht yca R aT 2 qi fery HTYTRUT GIG 6.

X

(D)qGT

97. fafaasTEI YR faaR
10

(B) 4213
(C) 4123 t

30

(B) 15

(D)9

(B) 20%

(D) 10%

20

:

30
50 90

(B) 65
(D) 50

40 50

[B]

20

[AJ

[AJ

[D]

[AJ

Check
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98.

99.

(C) fry

(C) 4dR

fa f fgUrA HTA ftes ?
(A)áteartk

(E) 34q1fkd uA

(A) 6000
(C) 4000
(E) 34gdfRa VA

?

HAGIGIS 4T HdGIT fehTIA, 600 HGTH

(A) 24
(C) -2-fstF
(E) gafka HA

(A)

(C) 3R T
(E)HgiRA YA

(B) $T
(D) 4

(A) 6 f
(C) 10
(E)4qafa 9A

(a) sft a E

(B) GUy

101. Afafea iatchet RR BAgT

(A) (O),(d),.(a),(b)

(C) (b),(d),.(a).(c)
(E) 4gtfk 9A

(D)$RT

(B) 7000
(D) 5000

(B) ( H1s

(D) BIs BE

(B) IGRTA
(D)HIRT

(B) 8 fa
(D) 5 t

[AJ

103. A 24 t 75% ar H HhGTIB ar 4 T

(b) sft+f gr r4

[D]

(B) (a),(d),(b),(c)
(D) (b),(c),(d),(a)

[B]

[C]

(B]

[AJ

(A) Tt
(C) 3E4g
(E) 4gtRa HA

(A) faafta
(C) 44HRCH
(E) 34fRA IA

(A) SRTS
(C) 34H
(E) qufta HN

() frH
(E) 3fRa AA

(A) HeHt

(D) IGY4IT

(A) T4-9ia
(C) qs-g
(E) 3qfkd AA

(A) g
(C) HAI4TG
(E) gtfk HA

(B) $AA
(D) Gierg

(B) HU
(D) 3rfergI

(B) fAfGc5H

T SI

(D)

(B)

(D) At fafzut

(B)frH HHT 3TH

(B) fta-aI
(D) Ig-d#

(B) TR
(D) fee

[C]

(B]

[AJ

[A]

[AJ

[C]

[B]

112. Choose the most appropriate passive
form of the sentence given.
No one can do anything about the case
unless Someone gives us
information.

more

(A) Nothing can be done about the case,

unless we are qiven more information.
(B) Someone has to give more information
for us to do something.
(C) To do anything more information is

required.
Unless Someone gives us more

information we cannot do anything.
(E) Question not attempted [D]

Check
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113.
,

2024 faa HAft at fA-fr tuft-1

(A)ht gfRur fafas

(E) gafk HY

(A) HIJA, hlat, fr
(B) HTSH, hials, iR
(C) HI3A, hiais, hR
(D) HTGH, htals, Hta
(E) 3gtfka VA

115. A:+4
(A)
(C) Ars
(E) 3gdRA YA

(E)gakA YA

(A) 1

ifr ztrft

(C) 3

fill in the blank:
I've got
but

117. yf a = bm, b= c 3r C= ak BÌ, at m, n, k at

(B) AEa

(A) many, afew

(D) ARH

(C) none,some

(A) AH
(C) ARIchRUT

(B) 2
(D)0

(E) Agafk aA

118. Choose the most appropriate option to

(B) Somne, fewer
(D) none, many

(E)Question not attempted

[D]

friends so I'm not lonely,
of them never visit me.

[C]

(B) 7

[A]

(D) Aef

[D]

[AJ

[A]

[B]

120. faepd yochtgt RIT ?

(E) 31qfkd HA

(A) TrURT - cI
(C) HySI - HT
(E) rgifkd IN

(A) distribute

122. Choose the word nearest in meaning to
the underlined word.

(C) aggravate

He tried to alleviate the suffering of his
neighbours.

(A) tg*
(C) ftrzfteata
(E) 3gfka VA

(A) âTMIgOTdfte-ftur

(B) SI34 H

(E) Question not attempted

(D) FITheez fsty
(E) 3gafkd nN

(A) Fe 3ir Mo

(C) NO 3ir Mo
(E) 3-gtRa HA

(B) - eT
(D) paR-rf

(A)
(C) ychTRT TqUT
(E) Hqaftd HN

(3TEA, 2024) 4UH
(A) 3. h. TYTCHU|
(C)š. qH. AHTY

(E) 347fRa VA

(B)remove
(D)abate

(B) RIGTG

(D) 3HGIIG

(B)MnO, 3r Fe

(D)Mo 3itR Fe

[AJ

(B) Hht U

[D]

(B)s. 5. httiT
(D) s. . faa

[D]

[B]

[B]

[AJ

[B]

[C]

Check
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128. Q aR R HElR É T aftTPàqd tr
, Eâ tR iI a Q HT E dy ?
(A) tt
(C) fst
(E) 4qRA IA

(A) RTer-t

(E) gafrA IA

(A) H
(B) HI3Z HI
(C) fRrHT

(D) -tati

44, 22, 22, 33, 66, ?
(A) 100
(C) 165
(E) 3rzafkd IA

(A)TqU
(C) hle
(E) 34qtfa yA

133. yf

35

(A) 6

2cos +3sin=3

29

(C) 3

(E) 44dRA IA

(B) qa

5sin20 + cos 0+ cosec20

(B) fAHY AHt

(D) yft

(E) 3gaRa VA

(B) IG
(D) Urft

(B) 120
(D) 96

(B) TG4
(D)

(B)

134. "RAM" hI ufea ar?

21

4

0 <e<90°

4

(D) 15

[B]

[D]

[B]

[AJ

[B]

[AI

[AJ

(B) RT 4H Hafat efti

(E) gafkd TA

136. fahft TT À 'SNIP' t '@59# À3ÀR 'KITE'

(A) #95

(C) $19#
(E) 4afra 9A

(A) 3q< 155

() 34q3c 159
(E) 3gRd HA

(B) 3R. 3TR, 3TR.

(C) HRUZ RHGRIS

(E) 3gaRa HA

fillin the blank:

138. 4 2023 aT 69a His aUfda ftheH

Son.

(A) in lieu of

He abdicated the throne

(C) in favour of

(B) 92#$
(D) $85!

139. Choose the most appropriate option to

(E)Question not

(B) 34dz 157

(D) qsz 153

(a) aieŽ
(b) uret
(c) 1H
(d) HR

(D) against
attempted

140. qi-I àt yt-II gAfa fte:

(B) by way of

() RIA

(i) JgH

[AJ

(ii) ZChl

(iv) 5qI

[AJ

(A) (a)-(ii), (b)-(iv), (C)-(i), (d)-()
(B) (a)-(iv), (b)-), (c)-(i), (d)-(ii)
(C) (a)-(iv), (b)-(ii), (c)-(i), (d)-{()

(D) (a)-{ii), (b)-(iv), (c)-(), (d)-{ii)

(E) gRd HA

(D]

[D]

his eldest

[C]

[AJ

Check
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(A)Ateart
(C) •fferaigI

(E)37fRa uA

(A) JsRId
(C) VfgH TT
(E) 34fd 9A

(A) she fr
(C) aiteR
(E) 37af TA

(A) arTUTSA
(C)fefa
(E) 37fRa HA

(A)SHPMKL

(C) HSPVEP

(E) 4gak TA

146. fachtuf hT fae4
(A)ycha

(B) 3<4y
(D) R

ANIMAL:OBNJMB:: GROUND:?

(C) AIgq
(E) 34afRa u

(B) h

(D) IGH

(B) Rfr
(D) sic fia

(B)2RstZH
(D)eitusf

(B) SHVPEO

(D) SHVPOP

(B) g
(D)JAÉ

[D]

[B]

[D]

[AJ

[C]

[AJ

(A) yi4H HIGqH-7AI

(B) Fatfehy HAT - SS

(D)FHI T -dI
(E) gfkd 9A

(A)

(C) hgte yte

(E) 4fRa N

(A) šRH SERTT
(B) SIURR RR

(E) 3gfka HA

(C) YTH yrtt
(E) gRA HA

(B) ÝrY HAA
(D) o-ty yaya

[C]

[B]

[B]

[AJ

Check
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